REXFE145 (2D 3) (B75F8RF)

¥

CEHMHMARZESREXFFNAFAHFS
(BEHXACT7LONBREFZROER : —K&A)
BEEEEE &
TALDEER
T KBOHFDOHEALTLLESL,
2 O0ECAIF BZEBIDHDLDICLHZEMTFTLESL,

Jo m

5 7
# * %
B
E = E :
( _ _
AFERORVEAAENE PN
e TEE
MREES (Z0T) | yoemu [ H B B o~ A B B 45
OaZ=1
(HEBERE3) °00F
O2a%=2
(HEBERE2) o003
O2%=3
(REREET) o00F
Oa%=4
%“;j ({98E 1-1=A4) 1, 000M
1 (Omams 5009
B
O 2 5009
OALERE7 5009
OALER=S 5009
ORLEE=O 5009
O EmEES 4 1. 000
OA2@EEZ1 ~ 3
| (— KA O H) 1. 500H
P oxeme=a 1. 000F
Bﬂ:
" loxe@EE=s 500
OALERE6 5009




WERER (t02) | L e w s B AW S
O>2>ro1 10, 000F9 | # fig JFIR |l 18
FT L AB
O>2vv2 7,000 | #£ fig JR 4K |18
FT LB
CEEEC ., 2, 00073 | % fi RrEE
FT )
OYv 7 —%F1 2,500M
Oy —%2 2,500
O94—L7 vy TE1 1,000/
OY4—L7y T=E?2 1, 000MH
O®E=E1 1, 000MH
OBE=E 2 1, 000MH
O%ax=E 3 1,000/
O%X=E4 1,000/
O®KE=ES 1, 000MH
OF47 v T 1 1,000/
OF %7 v b3Ei5 2 1, 000MH
OA > T4 A*A—=23 Y 1, 000MH
O
WEEE (£03) | pum | B oEE He A B S
OOy H—Ib—L4 1 1, 000M
OO yh—L—L2 1, 000M
Ooyh—L—L43 1, 000M
OOy A—L—L4 1,000
O3 1 REE%S (3F) | 30,000/
OmEEs ($/) 50, 0003
O%EHH (7 AmE) | 25 0007

A0 &M

AN
== |




